9 7 REm

NINOZT
KERNTINOZ>7 - KEESEA
EH 23330.
MmN
}s’f”@ : NINOGZOT &, TOHBHNBBICRY, BRIKERREHERETEEIOT, BABE
,*ii{ gﬁx ¥TOREVMERNTRETT
fﬁﬁ/; G EREEELTE, SEMIELTORAG, B, BT, FE, FAN, RAEEC, £,
.f"d\ . AI, 7S5AFY IELTE, B8, "B, QK. 7S/ AMIREEEr 6V ET
‘/f_? KRINWIZOTE, TERLKISOTZ#HATEXINT, TV AL—ARICEYATZEN
HRET., £, BKAOFETISUTBEETHIEEFT, REBRISVTHEBDENTE
P2OEBETT. NTILIUTUTR. BEREREICIRYOYVENTVEIOT, XY
BRELEDRAEMRECELSICTETVET
NINOZOTE. RPBOFERAEFRELERIICT, SREOBHEF > TEEETIATVE
3‘0
MRET, ABIZNICTHA O ENEREOTY T RNENRILICKY, EVEFEEELT
WET,
VST RIC, ER<KHARTEAIDVEZINRILNNBELTVET
e ¥ Yt ]
& BR%
« AT 4 =)L, BIAYF, TEH(LE R
. ZFVLAH VSVTRZOBRAT /T —tHE
Kl
URY N
« AFVL AR
o 8
guyT
C TIRFVY
957Ul
c AT A=), BEANQE, FHXYF
« AFVL AR
oo T ey S
« dA, B
+3ER
23330.1003
23330.1503
lg
o~
d
f st C|1 2
_"‘ m m ~
= o o oz )
E m
e lg | |
L7
c
23330.1004 233301005
23330.1504 l 233301505
g 6 d 233301006
d, d l d
~ d1 1 ] 1
5|8
Fan)
w i uﬂ_ j " s
m -~ m m
ls 2 mml |° -‘_'_'_ R =1
@ el 0 o & ©
lg
lg l7
l? Im o
l7

B1/455

EEHALDER hi: 13.10.2023



9 7 REm

NINOZVT
ECpE L
S S % % REN | a &
14X TRl
dy | dy | by |b, b; by | hy (hy| hy | hy | hs hs | Iy | | 13| 14| s g I7 ls | Fy | F2 minmax
min. max. T
[mm] [mm] [kN] [°C]
E]
1 M 4x25/46 - [250 4| 16,0 - |23,0| 34|14,5| 7,5|-55| 0,0/ 79 28| 55| 9,0/125,5| 6,311,5-15,5 - 0,25 0,4 90°|-10|80 38 23330.1001
2 |M5x30 52| - (34,0 518,0-215 - |30,0| 49/19,0/10,0/-3,0| 2,5/120| 42| 8,0/18,7|34,0| 5,513,0-14,5 - |0,80(1,1/90°|-10|80| 11223330.1002
3 |M6x35|56(56/42,00 6119,5-29,528,5 45,0/ 68/24,0/13,2/-1,5| 5,0/162| 64/16,0/32,0/38,0/ 6,0, 26,0 [12,7/1,00/1,2/90°-10 80| 19023330.1003
4 |M8x45 6,5|51|455 822,0-31,831,6/48,5| 86/32,0/15,0/-2,0| 9,0/206| 73|/14,0/38,0/50,0| 7,0/ 25,7 |13,0/1,80(2,5/90°|-10|80| 33723330.1004
5 |M8x65|8,5/85|58,0/1029,0-43,043,0/75,0(126/45,0/20,0|-4,0|24,0/287|113|27,0/63,0/57,0| 8,0, 41,0 |20,5/2,00/3,0/90°-10 80| 72623330.1005
6 |M12x80|8,5 — (58,0{10| 41,5 - |73,0{128/46,0/25,0| 1,7(25,0/321/123|16,0/78,0/77,0/12,5| 41,5 - [3,00/5,0/90°|-10/80111223330.1006
ATVLAH
2 |M5x30|52 - (34,0 518,0-21,5 - 30,0/ 49/19,0/10,0/-3,0| 2,5/120| 42| 8,0/18,7/34,0| 5,513,0-14,5 - |0,80/1,1|/90°|-10 80| 11323330.1502
3 |M6x35|56|56/42,00 6119,5-29,528,5 45,0/ 68/24,0/13,2/-1,5| 5,0/162| 64/16,0/32,0/38,0/ 6,0, 26,0 |12,7/1,00/1,2/90°(-10 80| 18923330.1503
4 |M8x456,5|51|455 822,0-31,831,6/48,5 86/32,0/15,0/-2,0/ 9,0/206| 73|/14,0/38,0/50,0| 7,0/ 25,7 |13,0/1,80(2,5/90°|-10|80| 34123330.1504
5 |M8x65|8,5|85|58,0/1029,0-43,043,075,0(126/45,0/20,0|-4,0 |24,0/287|113|27,0/63,0/57,0| 8,0, 41,0 |20,5/2,00/3,0/90°-10 80| 74423330.1505

H2A55
EEHALDER hiX: 13.10.2023


http://halder.com/jp/23330.1001
http://halder.com/jp/23330.1002
http://halder.com/jp/23330.1003
http://halder.com/jp/23330.1004
http://halder.com/jp/23330.1005
http://halder.com/jp/23330.1006
http://halder.com/jp/23330.1502
http://halder.com/jp/23330.1503
http://halder.com/jp/23330.1504
http://halder.com/jp/23330.1505

9 7 REm

NINOZDT
ToeY)—
& [ 1 HRES
dz
[mm] [g]
9227TRU (RNILIZVTOARTN=Y), @
M 4x25 6,2 23330.9001
M 5 x 30 11,0 23330.9002
M 6 x 35 16,0 23330.9003
M 8 x 45 38,0 23330.9005
M 8 x 65 57,0 23330.9006
M12 x 80 147,0 23330.9007
9Z2TRU (MVNIZVTOARTN=Y), ATV L AHR
M 5x 30 11,0 23330.9502
M 6 x 35 16,0 23330.9503
M 8 x 45 38,0 23330.9504
M 8 x 65 57,0 23330.9505
H3M55

tNHALDER

hiX: 13.10.2023


http://halder.com/jp/23330.9001
http://halder.com/jp/23330.9002
http://halder.com/jp/23330.9003
http://halder.com/jp/23330.9005
http://halder.com/jp/23330.9006
http://halder.com/jp/23330.9007
http://halder.com/jp/23330.9502
http://halder.com/jp/23330.9503
http://halder.com/jp/23330.9504
http://halder.com/jp/23330.9505

9 7 REm
NIWNOS>T

SR i

H4hs55
EEHALDER hiX: 13.10.2023



9 7 REm
NIWNOS>T

ESQAVTIATUR

HAOETERICOVTE., BENORREESEZERL TKEEL,

B5/455
EEHALDER hi: 13.10.2023



